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Question 1
f(x)=4sinx—3cosx.
a) Express f(x) in the form Rsin(x—«), R>0, 0<a<90°.

b) Hence, solve the trigonometric equation

4sinx—3cosx=2, 0<x<360°.

f (x)=4sinx—3cos x = 5sin(x—36.9°)|,

x = 60.5°, 193.3°

Question 2

f(x)=5cosx—6sinx, xe R.

a) Express f(x) in the form Rcos(x+a&), R>0, O<0{<%.

b) Hence, solve the trigonometric equation

Scosx—6sinx=4, O<x<2rx.

F(x)=5cosx—6sinx =+/61 cos(x +0.876°)|, |x=0.157°, 4.37°

@  Sesm—bum = Dloslrx
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Question 3
f(6)=2sin0—3cosb, e R.

a) Express f (@) in the form Rsin(6-a), R>0, 0<a<%.

b) Hence, solve the trigonometric equation

2sin@—3cosfd=2, 0<O<2x.

f(6)=2sin6-3cos0 =/13sin(0-0.983)|. |9.=1.57°, 3.54°

JET = i3

Question 4
f(x)=T7cosx—24sinx, xe R.
a) Express f(x) in the form Reos(x+a), R>0, 0<a<90°.

b) Hence, solve the trigonometric equation

7cosx—24sinx=10, 0<x<360°.

x=219.9° 352.7°

f(x)=7cos x—24sinx =25cos(x+73.7°)|,

) e
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